
Adding Integers (G)
Name: Date: Score:

Calculate each sum.
−30 + (−85) =
99 + (−72) =

−39 + (−98) =
98 + 72 =
99 + 90 =

−47 + (−86) =
−73 + (−16) =
−52 + (−91) =
90 + 83 =

−61 + 93 =
−18 + 82 =
−95 + 80 =
−74 + (−73) =
−95 + (−55) =
92 + 28 =

−81 + 15 =
−85 + 67 =
80 + (−99) =
72 + 79 =

−99 + 98 =
−27 + (−78) =
91 + (−88) =

−71 + 97 =
−92 + 83 =
−9 + (−42) =

80 + (−1) =
−98 + 70 =
−85 + 2 =
90 + 81 =

−40 + 99 =
95 + 71 =
95 + 73 =
33 + (−89) =

−50 + (−70) =
95 + (−81) =
97 + 85 =
92 + 82 =
75 + 43 =

−96 + (−96) =
−71 + (−87) =
−94 + 77 =
86 + (−54) =

−98 + (−95) =
86 + 33 =
71 + (−87) =
80 + 89 =
93 + 85 =

−83 + 76 =
−93 + (−92) =
88 + 90 =
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Adding Integers (G) Answers
Name: Date: Score:

Calculate each sum.
−30 + (−85) = −115
99 + (−72) = 27

−39 + (−98) = −137
98 + 72 = 170
99 + 90 = 189

−47 + (−86) = −133
−73 + (−16) = −89
−52 + (−91) = −143
90 + 83 = 173

−61 + 93 = 32
−18 + 82 = 64
−95 + 80 = −15
−74 + (−73) = −147
−95 + (−55) = −150
92 + 28 = 120

−81 + 15 = −66
−85 + 67 = −18
80 + (−99) = −19
72 + 79 = 151

−99 + 98 = −1
−27 + (−78) = −105
91 + (−88) = 3

−71 + 97 = 26
−92 + 83 = −9
−9 + (−42) = −51

80 + (−1) = 79
−98 + 70 = −28
−85 + 2 = −83
90 + 81 = 171

−40 + 99 = 59
95 + 71 = 166
95 + 73 = 168
33 + (−89) = −56

−50 + (−70) = −120
95 + (−81) = 14
97 + 85 = 182
92 + 82 = 174
75 + 43 = 118

−96 + (−96) = −192
−71 + (−87) = −158
−94 + 77 = −17
86 + (−54) = 32

−98 + (−95) = −193
86 + 33 = 119
71 + (−87) = −16
80 + 89 = 169
93 + 85 = 178

−83 + 76 = −7
−93 + (−92) = −185
88 + 90 = 178
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